PNP SILICON TRANSISTOR

H SB D 140 BD140

Tog—— ~55~150 V7
T—— 150 ‘ ?'/3/
Pc T=25 12.5W
P— Ta=25 1.25W 1= E
Vego—— — -80V :23: g
Vceo — -80V
Veso—— — -5V
l—— (Pulse) _3A
l— (DC) _15A
Ie -0.5A
B Tc=25
lceo — -0.1 HA | vee=-30V, 1:=0
leBO — -10 HA | Ves=-5V, =0
*Negq) ) 25 Vce= -2V, Ic= -5mA
*Neeg) ) 25 Vee= -2V, Ic= -0.5A
*Nega) 3 40 250 VceE= -2V, Ic= -150mA
*V c(sat) — -0.5 v Ic= -500mA, 1= -50mA
*\/BE(ON) — -1.0 V Ic= -0.5A, Vce= -2V
*\/ CEO(SUS) — -80 v Ic= -30mA, I18=0

*Pulse Test: PW=350u S,Duty Cycle=2% Pulsed
B b=

Cassification 6 10 16

heega) 40~100 63~160 100~250




